
APPENDIX 



Treatment I (Er:perimental group) 

Degrees of Comparison of Adjectives 
( tingkat perbandingan ) 

Underline the adjectives below ! 

I. I saw a good film last night . 

2. Our house is quite big . 

3. Ani is ugly. 

4. Their expensive car broke yesterday . 

Degrees of Comparison can be distinguished into three , they are : positive , 

comparative , and superlative . 

I . Positive ( tingkat setara) 

Adalah : perbandingan yang menyatakan persamaan I perbedaan dua benda . 

a . Persamaan : 

l.As ... as 

Pola Kalimat : 

Subject+ predicate+ as •.. as+ Subject+ predicate 

e.g: 

My shirt is as white as yours . 



2 . The same ... as 

Pola Kalimat: 

Subject+ predicate+ the same ... as+ Subject+ predicate 

Subject+ predicate+ tl\e same as+ Subject+ predicate 

e.g : My shirt is the same colour as yours. 

My shirt is the same as yours . 

b . Perbedaan : 

• DitTerent from 

Pola Kalimat: 

-Subject+ predicate+ different+ Noun+ from+ Subject+ predicate 

-Subject+ predicate+ different from+ Subject+ predicate 

-Subject+ predicate t different 

e.g: 

My shirt is ditTercnt in colour from yours. 

My shirt is different from yours. 

Our S'nir1::s colour is different. 



II . Comparative ( tingkat lebilz) 

Adalah : perbandinga~ antara dua benda yang menggunakan akhiran -er atau 

awalan more . 

Pola Kalimat : 

Subject+ predicate+ comparative degree+ than·+ Subject+ predicate 

a . - One syllable . 

e.g: 

The bus A is cheaper than the bus C . ( cheap---- cheaper ) 

- One syllable which ending with a consonant and preceded with a single 

vowel , for examples : big , red , fat ; double the final consonant and 

add- cr. 

e.g: 

Billy is bigger than Amir. (big----- bigger) 



b.- Two syllables which ending in -y, the-y becomes i and add-cr . 

... 

T. Sl-lirt 

The long sleeves is dirtier than the T-shirt. (dirty----- dirtier) 

-Two syllables which ending with-e, add- r . 

e.g: 

The size M is larger than the size S . ( large ----- larger ) 

c . More than two syllables : ( Pl!t more before the adjectives ! ) 

e.g: 

Lina looks more heautifultlzan Susi . (beautiful---- more beautiful ) 

Ill . Super/atil'e ( ti11gkat paling) 

i\dalah : pcrbandingan tiga hqnda I lcbih yang mcnggunakan akhiran -est atau 

awalan most . 



Pola Kalimat : 

Subject+ predicate~ the+ superlative degree+ complement 

a . - One syllable . 

e.g: 

The bus B is the cheapest of all types. (cheap--- cheapest ) 

-One syllable which ending with a consonant and preceded with a single 

vowel , for examples : big , red 
1 

fat_; double the final consonant and 

add -est. 

e.g: 

Tommy is the Qiggesl boy in the class. (big---- biggest) 

b. -Two syllables which ending in -y, the-y becomes i and add -est. 

e.g: 

T- shiri: lor~g s\11vt fl\ovs e. 

The blouse is the dirtiest of all . 



.. 

- Two syllables which ending with -e , add -st . 

e.g: 

-~· "']' ~ . . I 1 
' . . . 

' . ' . - ' 

. .. . ~ .... }m. :. \~ ,:. ... h .. .. ,, ~ ,. 
... • ~ .... ~·:-:;:~.·· ~· :·--- .. 

The size L is the largest size in this store . 

c . More than two syllables : ( Put most before the adjectives ! ) 

e.g: 
• 

(r-la ) . ::>: .. (Lit~a.) 
••.• r • • 

. 

, (svs.i). 

Nany is the most beautiful girl in this office .(beautiful - most 

beautiful). 

SOME SHORT ADJECTIVES HAVE IRREGULAR COMPARATIVE AND 
SUPERLATIVE FORMS : 
Positive 

Good 
eg. 

, 

-
....... ExM\ 
-------·--__ .. _ 

-(80)· 

Score 80 IS good . 

Comparative 

l 
! 
' I 
' 

I 

Better 

,..... 
£)(~ ,....--
--

® 
Score 90 IS better 
than 80. 

Superlative 

Best 

~~~~ 
----------·--------

(to~ ,... 
Score 100 IS 

the best. 

.....-- ..... 



Bad 
e.g: 

Worse Worst 

~QJ 
1--,I._'"',A-or--)......L._ ___ __.:.......I\T,Ib~ )'------ (G) 

The apple A is bad . The apple B is worse The apple C is the 
than the apple A . worst. 

EXERCISES: 

A. Look at the pictures and write sentences using the given adjectives ! 

I ~~> 
l.(wet)f }~~ 

tn~l:lrH1-- 750 mm raul por year 

'" Vietrl.~m ~ 2,500 mrn per y_ear 

' .. 

iaangta Oe~h- J:ooo """'·"''per year 
2. (pretty) 



3. ( attractivl! ) 

B. Complete each of the following statements using the suitable degrees of 
comparison from the adjectives given in brackets 1 

I . llcrl ia is as ( clever ) as Dewi . 

2 . The honey is sweet. The candy is sour. The honey is different ( taste) from the 

candy. 

3 . Doni is ( happy ) than Rio 

4 . Susi is the ( thin ) girl in the class . 

5 . Lion is the ( dangerous ) animal. 

6 . This pencil is long and that pencil is too . This pencil is the same ( length ) as that 

one. 

7 . Going by bus is ( hot) than by llcroplane. 

8 . My sister is ( dilligent) than my brother. 

9 . My father is the (wise) man in, our house. 

I 0. This book is ( good ) than that book . 



Treatment I (Control group ) 

Degrees of Comparison of Adjectives 
( tingkat perbandingan ) 

Underline the adjectives below ! 

1. I saw a good film last night . 

2. Our house is quite big . 

3. Ani is ugly . 

4. Their expensive car broke yesterday . 

Degrees of Comparison can be distinguished into three , they are : positive , 

comparative , and superlative . 

I . Positive ( tingkat setara) 

Adalah : perbandingan yang menyatakan persamaan I perbedaan dua benda . 

a . Persamaan : 

l.As ... as 

Pola Kalimat : 

Subject+ predicate+ as ••• as+ Subject+ predicate 

e.g : My shirt is as white as yours . 

2 . The same ... as 

Pola Kalimat : 

Subject+ predicate+ the same .•• as+ Subject+ predicate 



Subject+ predicate+ the same as+ Subject+ predicate 

e.g : My shirt is the same colour as yours . 

My shirt is the same as yours . 

b . Perbedaan : 

• Different from 

Pola Kalimat : 

-Subject+ predicate+ different+ Noun+ from+ Subject+ predicate 

-Subject+ predicate+ different from+ Subject+ predicate 

-Subject+ predicate+ different 

e.g : My shirt is different in colour from yours . 

My shirt is different from yours . 

Our bag's colour is different. 

II . Comparative ( tingkat lebih) 

Adalah : perbandingan antara dua benda yang menggunakan akhiran -er atau 

awalan more . 

Pol a Kalimat : 

Subject+ predicate+ comparative degree+ tban +Subject+ predicate 

a . - One syllable . 

e.g : The bus A is cheaper than the bus C . ( cheap - cheaper ) 

-One syllable which ending with a oons()nant and preceded with a single 

vowel , for examples : big , red , fat ; double the final consonant and 



add-er. 

e.g : Billy is bigger than Amir. ( big---- bigger) 

b . -Two syllables which ending in -y , the-y becomes i and add-er . 

e.g: The long sleeves is dirtier than the T-shirt. (dirty- dirtier) 

- Two syllables which ending with-e , add - r . 

e.g : The size M is larger than the size S . ( large -- larger ) 

c . More than two syllables : ( Put more before the adjectives ! ) 

e.g : Lina looks more beautiful than Susi . ( beautiful - more beautiful ) 

III . Superlative ( tingkat paling) 

Adalah : perbandingan tiga benda I lebih yang menggunakan akhiran -est atau 

awalan most . 

Pola Kalimat : 

Subject+ predicate+ the+ superlative degree+ complement 

a . - One syllable . 

e.g : The bus A is the cheapest of all types . ( cheap- cheapest) 

- One syllable which ending with a consonant and preceded with a single 

vowel , for examples : big , red , fat ; double the final consonant and 

add-est. 

e.g : Tommy is the biggest boy in the class . ( big- biggest ) 

b . - Two syllables which ending in -y , the-y becomes i and add -est . 

e.g : The blouse is the dirtiest of all . 



- Two syllables which ending with -e , add -st . 

e.g : The size L is the largest size in this store . 

c . More than two syllables : ( Put most before the adjectives ! ) 

e.g : Nany is the most beautiful girl in this office .(beautiful ----- most 

beautiful) . 

SOME SHORT ADJECTIVES HAVE IRREGULAR COMPARATIVE AND 
SUPERLATIVE FORMS : 
Positive 

Good 
e.g: 
Score 80 is good . 

Bad 
e.g: 
The apple A is bad . 

EXERCISES: 

Comparative 

Better 

Score 90 is better 
than 80. 

Worse 

The apple B is worse 
than the apple C . 

A I. Complete the COMYf\\1-ISOrt TII~LE V!How! 

No Positive Comparative 

I. (wet) 

2. (pretty) 

3. ( attractive ) 

Superlative 

Best 

Score I 00 is the 
best. 

Worst 

The apple C is the 
worst . 

Superlative 

II . Make the comparison sentences based on the adjectives above ! You may create 
those sentences based on what you see on your daily lives . 

B. Complete each of the following statements using the suitable degrees of 
comparison from the adjectives given in brackets ! 

I . Herlia is as ( clever ) as Dewi 

. 2 . The honey is sweet . The candy is sour . The honey is different ( taste ) from the 



candy. 

3 . Doni is ( happy ) than Rio . 

4 . Susi is the ( thin ) girl in the class . 

5 . Lion is the ( dangerous ) animal . 

6 . This pencil is long and that pencil is too . This pencil is the same ( length ) as that 

one. 

7 . Going by bus is ( hot ) than by aeroplane . 

8 . My sister is ( dilligent ) than my brother . 

9 . My father is the ( wise ) man in our house . 

10. This book is ( good ) than that book . 



Treatmeut 2 ( E.r:perimental group ) 

Degrees of Comparison of Adjectives 
( tingkat perbandingan ) 

Underline the adjectives below 1 

I. He has a happy life. 

2. She looks so sad . 

3. Budi is lazy . 

4. My beautiful friends died yesterday. 

Degrees of Comparison can be distinguished into three, they are : positive, 

comparative , and superlative. 

I . Positive ( tiugkat setara) 

Adalah : perbandingan yang menyatakan persamaan I perbedaan dua benda. 
I 

a . Persamaan : 

I. As ... as 

Pola Kalimal : 

Subject+ predicate+ as ... as+ Subject+ predicate 

e.g: 

You are as old as I am. 



You are different in age from I am. 

Your age is different from mine. 

Our age is differen.!. 



II . Comparative ( tingknt /ebi/1) 

Adalah : perbandinga!l antara dua benda yang menggunakan akhiran -era tau 

awalan more . 

Pola Kalimat : 

Subject+ predicate+ comparative degree+ than+ Subject+ predicate 

a.- One syllable. 

e.g: 

Ani has longer hair than Tuti . ( long----- longer ) 

- One syllable which ending .,..1th a consonant and preceded with a single 

vowel , for examples : big , red , tat ; double the final consonant and 

add-er. 

e.g: 

Andi is fatter than Anton . ( fat ----- fatter ) 



b . - Two syllables which ending in -y , the-y becomes i and add--er . 

e.g: /Skg 

The suitcase is heavier than the bag . ( heavy ----- heavier ) 

r. 

e.g: 

· . ( pale ---- paler) 

c . More than two syllables : ( Put more before the adjectives ! ) 

e.g: Cll 

The test ( I ) is more difficult than the test ( 2 ) . (difficult----- more 

difficult) 

Ill. Superlative ( ti11gkat pali11g) 

Adalah : perbandingan tiga benda I lebih yang menggunakan akhiran -est atau 

awalan most . 



Pola Kalimat: 

Subject+ predicate.+ the+ liUperlative degree+ complement 

a . - One syllable . 

e.g: 

Lusi has the longest hair in our house . ( long--- longest ) 

-One syllable which ending with a consonant and preceded with a single 

vowel , for examples : big , red , fat ; double the final consonant and 

add- est. 

e.g: 

(Anc\i) 

130 ~ 
Vance is the fattest girl in the class. (fat---- fattest) 

b . -Two syllables which end in , in­
Skg 

e.g: 

;• -·-' -;p c<fit:~ 



c. More than two syllables : ( Put most before the adjectives ! ) 

e.g: 
(2) 

The test ( 3 ) is the most difficult. ( ditlicult --- most difficult). 

SOME SHORT ADJECTIVES HAVE IRREGULAR COMPARATIVE AND 
SUPERLATIVE FORMS: 
Positive 

Little .---~......---.. 
e.g: 

There is a little water 
in the whisky bottle . 

Comparative 

Less 

There is less water in the 
gin bottle them whisky 
boule . 

Superlative 

IS least 
water in the syrup 
bottle . 



Many 
e.g: 

Basket A has many 
apples. 

EXERCISES: 

More 

Basket B has more apples 
than basket A . 

Basket C has the 
most apples . 

~· ( L0:~: ;t th]j~·::~ -~;'~"~: "';"' the g;"" adjoot;ve' ' 

. ~ ·.· . ~~ 

2. ( easy) 

6_ Canad~- 2o· C 

~- i-Pv:-"'·. ··=> 
b: . ~ 
:~ 

~-. · ·~on land - 32" C 

r~:4 ) 
·~-~~~ 
........., 'f . 

'. 



3. ( frightened) 

(tiger) 

£3. Complete each of the following statements using the suitable degrees of 
comparison from the adjectives given in brackets 1 

I . These umbrellas are reddish and those ones are too . These umbrellas arc the same 

( colour ) as those ones . 

2 . Achrnad is 170 ern tall , Ari is ~50 ern tall . Achmad is ( tall ) than Ari . 

3 . Bali is ( interesting) than Malq_Qg. 

4 . Budi is the ( busy ) person in tlt,e world . 

5 . This condition is the (bad ) in ~his month . 

6 . My uncle is as ( kind) as my futher. 

7. I spoke English. She spoke Mandarin. I spoke different (language) from her. 

8 . Nina is ( nice) than Ani . 

9. The air ticket is the ( expcnsiv~,:) of the other transportations. 

I 0. Dolphin is the (smart) tish. 



Treatment 2 (Control group ) 

Degrees of Comparison of Adjectives 
( tingkat perbandingan ) 

Underline the adjectives below ! 

1. He has a happy life . 

2. She looks so sad . 

3. Budi is lazy . 

4. My beautiful friends died yesterday. 

Degrees of Comparison can be distinguished into three , they are : positive , 

comparative , and superlative . 

I . Positive ( tingkat setara) 

Adalah : perbandingan yang menyatakan persamaan I perbedaan dua benda . 

a . Persamaan : 

l.As ... as 

Pola Kalimat : 

Subject+ predicate+ as ••• as+ Subject+ predicate 

e.g: You are as old as I am. 

2 . The same ... as 

Pola Kalimat : 

Subject+ predicate+ the same ••• as+ Subject+ predicate 

Subject+ predicate+ the same as+ Subject+ predicate 



e.g : You are the same age as I am . 

Your age is the same as mine . 

b . Perbedaan : 

• Different from 

Pola Kalimat : 

-Subject+ predicate+ different+ Noun+ from+ Subject+ predicate 

- Subject+ predicate+ different from + Subject+ predicate 

-Subject+ predicate+ different 

e.g : You are different in age from I am . 

Your age is different from mine . 

Our age is different . 

II . Comparative ( tingkat lebih ) 

Adalah : perbandingan antara dua benda yang menggunakan akhiran -er atau 

awalan more . 

Pola Kalimat : 

Subject+ predicate+ comparative degree+ than+ Subject+ predicate 

a . - One syllable . 

e.g : Ani has longer hair than Tuti . ( long - longer ) 

- One syllable which ending with a consonant and preceded with a single 

vowel , for examples : big , red , fat ; double the final consonant and 

add-er. 



e.g : Andi is fatter than Anton . ( fat--- fatter ) 

b . -Two syllables which ending in -y , the-y becomes i and add-er. 

e.g : The suitcase is heavier than the bag. ( heavy -- heavier) 

-Two syllables which ending with-e , add- r . 

e.g : Mr. Bambang looks paler than Mr. Budi . ( pale - paler ) 

c . More than two syllables : ( Put more before the adjectives ! ) 

e.g : The test ( I ) is more difficult than the test ( 2 ) . ( difficult - more 

difficult) 

III . Superlative ( tingkat paling) 

Adalah : perbandingan tiga benda I lebih yang menggunakan akhiran -est atau 

awalan most . 

Pola Kalimat : 

Subject+ predicate+ the+ superlative degree+ complement 

a . - One syllable . 

e.g : Lusi has the longest hair in our house . ( long- longest ) 

- One syllable which ending with a consonant and preceded with a single 

vowel , for examples : big , red , fat ; double the final consonant and 

add-est. 

e.g: Yance is the fattest girl in the class. (fat- fattest) 

b . - Two syllables which ending in -y , the -y becomes i and add -est . 

e.g : The trunk is the heaviest .( heavy - heaviest ) 



- Two syllables which ending with-e , add -st . 

e.g: Mr. Bakri is the palest of them . (pale---- palest) 

c . More than two syllables : ( Put most before the adjectives ! ) 

e.g : The test ( 3 ) is the most difficult . ( difficult----- most difficult ) . 

SOME SHORT ADJECTIVES HAVE IRREGULAR COMPARATIVE AND 
SUPERLATIVE FORMS : 
Positive 

Little 
e.g: 
There is a little water 
in the whisky bottle . 

Many 
e.g: 
Basket A has many 
apples. 

EXERCISES: 

Comparative 

Less 

There is less water in the 
gin bottle than whisky 
bottle. 

More 

Basket B has ~apples 
than basket A . 

A I Comolete the CoMVI\\I-i50rl l/\'?1\..~ ~tlo\11 1 

No Positive Comoarative 

1. (cold) 

2. (easy) 

3. (frightened) 

Superlative 

Least 

There is the least 
water in the syrup 
bottle. 

Most 

Basket C has the 
most apples . 

Sunerlative 

II. Make the comoarison sentences based on the adjectives above. You may create 
those sentences based on what you see on your daily lives ! 

B. Complete each of the following statements using the suitable degrees of 

comoarison from the adjectives given in brackets ! 
1 . These umbrellas are reddish and those ones are too . These umbrellas are the same 

( colour ) as those ones . 



2 . Achrnad is 170 em tall , Ari is 150 em tall . Achmad is ( tall ) than Ari . 

3 . Bali is ( interesting ) than Malang . 

4 . Budi is the ( busy ) person in the world . 

5 . This condition is the ( bad ) in this month . 

6 . My uncle is as ( kind ) as my father . 

7 . I spoke English . She spoke Mandarin . I spoke different ( language ) from her. 

8 . Nina is ( nice ) than Ani . 

9 . The air ticket is the (expensive) of the other transportations. 

10. Doll'hin is the (smart) fish. 



Treatment 3 (Experimental group) 

Degrees of Comparison of Adjectives 
( tingkat perbandingan ) 

Underline the adjectives below ! 

I. What a wonderful life ? 

2. He is very fat . 

3. Ari is funny. 

4. Our complicated problem had solved yesterday . 

Degrees of Comparison can be distinguished into three , they are : positive , 

comparative, and superlative. 

I . Positive ( tingkat setara) 

Adalah : perbandingan yang menyatakan persamaan I perbedaan dua benda . 

a . Persamaan : 

l.As ... as 

Pola Kalimat : 

Subject+ predicate+ as ••• as+ Subject+ predicate 

e.g: 

My shoes is as small as yours. 



2 . The same ... as 

Pola Kalimat : 

Subject+ predicate+ the same ... as+ Subject+ predicate 

Subject+ predicate+ the same as+ Subject+ predicnte 

e.g : My shoes is the same size as yours . 

My shoes is the same as yours . 

b . Perbcdaan : 

• Different from 

Pola Kalimat : 

-Subject+ predicate+ different+ Noun+ from+ Subject+ predicate 

-Subject+ predicate+ different from+ Subject+ predicate 

-Subject+ predicate+ different 

e.g: 

(A) 3" 

My shoes is different in size from yours. 

My shoes' size is djtTcrent from yours. 

Our shoes' size is difTerent . 



II . COittparath•e ( tingkat /ebilr) 

Adalah : perbandinga~ antara dua benda yang menggunakan akhirnn -er atau 

awalan more. 

Pola Kalimat: 

Subject+ predicate+ compar.ative degree+ than+ Subject+ predicate 

u . -One syllable . 

e.g: 

The Mandarin boo~ is thicker than the Japanese book. (thick----

thicker) 

- One syllable which ending ';Vith a consonant and preceded with a single vowel, 

for examples : big~ red . fa.t ; double the final consonant and add -er . 

e.g: 

~~~~~--~Ti a) 

Tina is thinner than Rudi . (thin----- thinner) 



b.- Two syllables which ending in -y, the-y becomes i and add-er. 

e.g: 

Andre is uglier than Santi . ( ugly----- uglier) 

-Two syllables which ending with-e, add- r. 

e.g: 

The TV 8 is wider than the TV A . ( wide ---- wider ) 

c . More than two syllables : ( Pyt more before the adjectives ! ) 

,ij 
lJ '@)(g) 

e.g: 

( 1\) ~f .f.tS'. ()00 1 -

The wrist-watch B is more expensive than the wrist-watch A . 

(expensive -----more expensive) 

Ill . Superlative ( ti11gkat paling) 

1\dalah : perbandingan tiga benda I lebih yang mcnggunakan akhiran -est atau 

awalan most . 



Pola Kalimat: 

Subject+ Jlrcdicatt; +the+ superlative degree+ complement 

a . - One syllable . 

e.g: 

The English book is the tickcst. (thick----- thickest) 

- One syllable which ending with a consonant and preceded with a single 

vowel , for examples : big , red , fat ; double the final consonant and 

add -est. 

e.g: 

.. 

Adi is the thinnest in the house. ( thin---- thinnest) 

b . - Two syllables which ending in -y , the-y becomes i and add -est . 

e.g: 

Robby is the yg!icst. ( ugly -----ugliest) 



-Two syllables which ending with-e , add -st . 

e.g: 

The TV C is the widest . ( wide ----- widest ) 

c . More than two syllables : ( Put most before the adjectives ! ) 

o.g ~ 

u w (S) 
\to ~>·OCXJ - {JJ.. (c.) 

(,...) I I w 
R.p 1o.u0o1

_ ~f 6o.axl,· 

The wrJst-watch C 1~ the most expens1ve of all . ( expensive---- most 

expensive) 

SOME SHORT ADJECTIVES HAVE IRREGULAR COMPARATIVE AND 
SUPERLATIVE FORMS: 

Comparative 

Latter .1. 

The cl(lCk . 
( 7.05 ) Tom is late today. ( 7.10 )Jim is latter them Tom. 

Superlative 

Lattest 

( 7.15) Sanni is 
the: !attest . 



Far ( jarak ) 
e.g: 

Farther Farthest 

500 Km 1000 Km 1500 Km ) 
SURABA Y A---------- SIDOAR.IO ----------- TRETES ----------- MALANG _I 

Surabaya -Sidoarjo is 
far. 

EXERCISES: 

Surabaya-Tretes is farther. 
than Surabaya-Sidoarjo. 

Surabaya-Malang is 
the farthest . 

A. Look at the pictures and write sentences using the given adjectives ! 
. Mounl Evcres!- 6646 mel res , j- · 

1. c h•gh ) ,;· r 
...... ~ 

2. (clever) 

-~ 
1,1on1 [Jianc -AOIO molros 

~~-I 

Moun I FuJ• - J77G me'.:.:''-'il'UI----1 



3. ( interesting) ·~ ( 1\)f'M 1'7. 

I·R C~ 
. ,, :. . • ,J. • .•.• ' . 

. j .:~fi!:rcrJ~--~~~~-:) ., I .. 'l'f' 'i;/ '1 
/1 - ~ ul .. 
. !-'1 i\1' lfr(._tii}!'l: 1 > 
t ~~· • ~~ .t1iJ l.," ' 

-•~..!' 

(c) .~. -~ ~ Y"7Pc lr 
-~, fCO!iJlJ {l ~-

B. Complete each of the following statements using the suitable degree of 
comparison from the adjectives given in brackets ! 

I . His pencil is as (sharp) as hers. 

2. My pen is long. Your pen is short. My pen is different (length) from your pen. 

3 . Ani is ( lazy ) than Nina . 

4 . Giraffe is the ( tall ) animal . 

5 . To foreign tourists , • Kuta • ~~ach in Bali is the ( popular) . 

6 . My face is oval and your face is too . My face is the same ( shape ) as yours . 

7 . Syrup tastes ( sweet ) than honey . 

8 . An airplane is ( comfortable ) than a train . 

9 . He looks the ( happy ) person in the world . 

I 0. Lina ate ( little ) food than Lani . 



Treatment 3 (control group ) 

Degrees of Comparison of Adjectives 
( tiogkat perbandingan ) 

Underline the adjectives below ! 

I. What a wonderful life ? 

2. He is very fat . 

3. Ari is funny. 

4. Our complicated problem had solved yesterday . 

Degrees of Comparison can be distinguished into three , they are : positive , 

comparative , and superlative . 

I . Positive ( tingkat setara) 

Adalah : perbandingan yang menyatakan persarnaan I perbedaan dua benda . 

a . Persamaan : 

l.As ... as 

Pola Kalimat : 

Subject+ predicate+ as •.. as+ Subject+ predicate 

e.g : My shoes is as small as yours . 

2 . The same ... as 

Pola Kalimat : 

Subject+ predicate+ the same ••. as+ Subject+ predicate 



Subject+ predicate+ the same as+ Subject+ predicate 

e.g : My shoes is the same size as yours . 

My shoes is the same as yours . 

b . Perbedaan : 

• Different from 

Pola Kalimat : 

-Subject+ predicate+ different+ Noun+ from+ Subject+ predicate 

- Subject+ predicate+ different from +Subject+ predicate 

-Subject+ predicate+ different 

e.g : My shoes is different in size from yours . 

My shoes' size is different from yours. 

Our shoes' size is different. 

II . Comparative ( tingkat lebih) 

Adalah : perbandingan antara dua benda yang menggunakan akhiran -er atau 

awalan more . 

Pola Kalimat : 

Subject+ predicate+ comparative degree+ than+ Subject+ predicate 

a . - One syllable . 

e.g : The Mandarin book is thicker than the Japanese book . (thick -

thicker) 



- One syllable which ending with a consonant and preceded with a single vowel, 

for examples : big , red , fat ; double the final consonant and add -er . 

e.g : Tina is thinner than Rudi . ( thin - thinner ) 

b . -Two syllables which ending in -y , the-y becomes i and add-er . 

e.g : Andre is uglier than Santi . ( ugly- uglier) 

- Two syllables which ending with -e , add - r . 

e.g : The TV B is wider than the TV A . ( wide - wider ) 

c . More than two syllables : ( Put more before the adjectives ! ) 

e.g : The wrist-watch B is more expensive than the wrist-watch A . 

(expensive -----more expensive) 

III . Superlative ( tingkot paling) 

Adalah : perbandingan tiga benda I lebih yang menggunakan akhiran -est atau 

awalan most . 

Pola Kalimat : 

Subject+ predicate+ the+ superlative degree+ complement 

a . - One syllable . 

e.g : The English book is the tickest . ( thick - thickest ) 

- One syllable which ending with a consonant and preceded with a single 

vowel , for examples : big , red , fat ; double the final consonant and 

add-est. 

e.g : Adi is the thinnest in the house . ( thin - thinnest ) 



b . - Two syllables which ending in -y , the-y becomes i and add -est . 

e.g : Robby is the ugliest . ( ugly--- ugliest ) 

- Two syllables which ending with-e , add -st . 

e.g : The TV C is the widest . ( wide ---- widest ) 

c . More than two syllables : ( Put most before the adjectives ! ) 

e.g : The wrist-watch C is the most expensive of all . ( expensive ---- most 

expensive) 

SOME SHORT ADJECTIVES HAVE IRREGULAR COMPARATIVE AND 
SUPERLATIVE FORMS : 
Positive Comparative 

Late Latter 
e.g: 
The lesson begins at 7.00 O'clock. 
( 7.05) Tom is late today. ( 7.10) Jim is latter than Tom. 

Far (jarak) 
e.g: 
Surabaya -Sidoarjo is 
far. 

EXERCISES: 

Farther 

Surabaya-Tretes is farther. 
than Surabaya-Sidoarjo . 

A. I. Complete the coMV/\9-i5or1 Th~L E I'JE Low ~ 

No Positive Comoarative 

I. (high) 

2. (clever) 

3. ( interesting ) 

Superlative 

Lattest 

( 7.15) Sanni is 
1 he !attest . 

Farthest 

Surabaya-Malang is 
the farthest . 

Suoerlative 

II . Make the comparison sentences based on the adjectives above ! You may create 
those sentences based on what you see on your daily lives . 



B. Complete each of the following statements using the suitable degree of 
comparison from the adjectives given in brackets ! 

I . His pencil is as ( sharp ) as hers . 

2 . My pen is long . Your pen is short . My pen is different ( length ) from your pen . 

3 . Ani is ( lazy ) than Nina . 

4 . Giraffe is the ( tall ) animal . 

5 . To foreign tourists , ' Kuta ' Beach in Bali is the ( popular) . 

6. My face is oval and your face is too. My face is the same (shape) as yours. 

7 . Syrup tastes ( sweet ) than honey . 

8 . An airplane is ( comfortable ) than a train . 

9. He looks fue.( happy) person in the world. 

10. Lina ate (little) food than Lani. 



I. Complete each of the following statements using the suitable degrees of comparison 

from the adjectives given in brackets ! 

I . This pen is as ( expensive ) as that one . 

2 . Town is ( small ) than city . 

3 . And what is the ( long ) river in the world ? 

4 . She is the same ( intelligent ) as the genius . 

5 . My father is ( sad ) than mother when they heard the bad news . 

6. Tino's book is the (thin) of all. 

7 . My book is the same ( colour ) as yours . 

8 . A . 1 0 + 10 + 5 = 25 . 
B. 10 + 10 = 20. 
B is ( easy ) than A . 

9 . Kursa eats two plates of rice everyday . Gembul eats three plates of rice and Komat 

eats four plates . So Kamat is the ( greedy ) of all . 

10. His shirt is different in ( size ) from hers . 

11. That lake is ( wide ) than this lake . 

12. Farida is the (nice) girl in my class . 

13. Travelling abroad is much (interesting) than just staying at home. 

14. What is the (difficult) subject, do you think? 

15. The plane flies fast and the helicopter flies fast too. 

The plane flies as ( fast ) as the helicopter . 

16. This is the (complicated) formula that I've ever seen. 

17. Put ( much ) sugar in my tea , please . 

18. The reporter wrote the ( good ) report to his boss . 

19. The boy had a (bad) headache than his friend. 



20. Mr. Robert is the ( late ) person comes in this meeting . 

II . Give a cross ( X ) to show the right choice ! 

1 . Nanik is diligent , and her sister is ... her . 
a. the more diligent . c . more diligent . 
b. the most diligent . d. as diligent as . 

2 . This book costs Rp. 2500,- . That book costs Rp. 5000,- . This book is different in ... 
from that book . 
a. colour. c. page. 
b. price. d. title. 

3 . Jakarta is ... than Yogyakarta. 
a. large . c. the largest . 
b. largest . d. larger . 

4. It is 120 km from Bandung to Bogor, it is 180 km from Bandung to Jakarta, and it's 
from Bandung to Cianjur is only 60 km . From the information above , we know that 
Bandung- Bogor is ... than Bandung- Cianjur. 
a. far . c. farther . 
b. farthest. d. further. 

5 . For my father singing is the ... among other his hobbies . 
a. enjoyable . c. more enjoyable . 
b. most enjoyable . d. as enjoyable as . 

6 . Tini is 48 kg . Tina is 48 kg . Tini is the same ... as Tina . 
a. age . c. weight . 
b. width . d. height . 

7 . This ruler is thirty em but that ruler is twenty five em . This ruler is different in ... 
from that one . 
a. height . c. weight . 
b. length . d. width . 

8. The white blouse costs Rp. 11.000,-, the red blouse costs Rp. 8.000,- and the yellow 
one costs Rp. 10.000,-. 
a. The yellow blouse is more expensive than the white one . 
b. The white blouse is more expensive than the yellow one . 
c. The yellow blouse is cheaper than the red one . 
d. The red blouse is the most expensive among them . 

9 . Robert is ... student in my class . 
a. fat . c. fatter . 
b. the fattest . d. the most fattest . 

10. Ina had three minutes to finish the test, Didi had two minutes and Dona had only one 
minute. 
a. Didi had less time than Dona . c. Ina had less time than Didi . 
b. Ina had the least . d. Dona had the least . 



KEY ANSWERS: 

1.1. expensive 

2. smaller 

3. longest 

4. intelligent 

5. sadder 

6. thinnest 

7. colour 

8. easier 

9. greediest 

10. size 

11. wider 

12. nicest 

13. more interesting 

14. most difficult 

15. fast 

16. most complicated 

17. more 

18. best 

19. worse 

20. !attest 

II.l. d 

2. b 

3.d 

4.c 

5. b 

6.c 

7. b 

8. b 

9.b 

JO.d 



Calculation For Two Means Test 

---------------------------------------------------
NCJ. >:A >:"'A xB >:"'5 

-----~------·---·-------·------------------------------

1 4.4 19.36 2.7 7.29 
2 5.6 31.36 3.5 . 12.25 ..,. 
···' 8.5 72.25 .., ..,. .... ._'\ 5.29 
4 7.3 53.29 5.5 30.25 
5 2.6 6.76 4.4 19.36 
6 5.0 25.00 5.1 26.01 
7 ~ 7 ....... ._, 10.89 6.3 :::;9 .69 
8 4.7 22.09 3.1 9.61 
9 3.4 11.56 4.4 19.36 

10 4.7 22.09 6.4 40.96 
11 4.0 16.00 .., ... 

..... .J 5.29 
12 1.6 2.56 4.1 16.81 
13 2.4 5.76 7.0 49.00 
14 5.1 26.01 4.5 20.25 
15 3.2 10.24 ..,. -, 

._\ • I 13.69 
16 -:"" -:"' ........... 10.89 5.2 27.04 
17 3.8 14.44 4.0 16.00 
18 5.8 33.64 1.6 2.56 
.19 3.8 14.44 5.8 33.64 
20 4.6 21.16 8.6 73.96 
21 2.1 4.41 5.5 30.25 
22 3.4 11.56 2.9 8.41 
23 7.1 50.41 2.8 7.84 
24 3.5 12.25 5.2 27.04 
25 .., .., 

.<..o.<.. 4.84 2.0 4.00 
26 2.6 6.76 7.3 53.29 
27 2.8 7.84 6.9 47.61 
28 8.7 75.69 2.8 7.84 
29 2.4 5.76 6.1 37.21 
30 .., .., ......... 4.84 5.3 28.09 
31 .., .., 

.c.. • ~. 4.84 5.9 34.81 
32 6.0 36. (H) 3.5 12.25 
33 • 5.9 34.81 3.1 9.61 
34 2.8 7.84 2.8 7.84 
35 4.3 18.49 5.7 32.49 
36 3.4 11.56 7.3 53.29 
37 5.6 31.36 4.4 .19.36 
38 3.4 11.56 2.0 4 .O(l 
39 8.8 77.44 4.4 19.36 

---------------------------------------------------
TOTAL 166.5 848.05 176.4 912.90 

---------------------------------------------------
n 

M<!an 
BD 

39 

: 4.269230 
: 1.900298 

39 

4.523076 
1.739852 

=================================================== 



Test of Hypothesis : 

I . Ho: mA = mB, there is no significant difference between group A and group B. 
Ha: rnA# mB, there .is significant difference between group A and group B. 

2. t-test, where dk. = nA + nB- 2 = 76 
t ( . 0512 ) = 2000 

3 . Calculation for !-observation ( to): 

A : (.icHS I IA 

{ >: 
>: = -----------

n 

/ 
In{>:"'-({>:)"" 

= 4.269230 

s = v -------------- = 1.900298 
n ( n-1) 

8 : ckw; I I 8 

{ >: 
>: = = 4.523076 

n 

I 
l n(>:"'- ({>:)"" 

s = v -------------- = 1.739852 
n (n-1) 

- -
>:A ·- :·: 8 

n = 

n = 

39 

39 

to = ---------------------------------------- = -0.615 

I 
I (nA-1)s2 A + (nB-1)s 2 B 1 1 

I ------------------------( ---- + 
V nA + nB - 2 nA nB 

.J..l._ CONCLUS!!JJ"::l •.. : .. - ···-· 

Because It observation I =• 0.615286 < t ( .05 12) so Ho is accepted . 
Hence, we can conclude that there is no significant difference between group A 
and group B. · 



Calculation For Two Means Test 

---------------------------------------------------
NO. >:A >:"'A >:C >::zc 

---------------------------------------------------
1 4.4 19.36 2.6 6.76 
2 5.6 31.36 3.4 11.56 .,. 
~' 8.5 72.25 5.0 25.00 
4 7.3 53.29 4.8 23.04 
5 2.6 6.76 6.3 39.69 
6 • =·· () 25.00 6.7 44.89 • 
7 • 3.3 10.89 7.7 59.29 
8 4.7 22.09 4.4 19.36 
9 3.4 11.56 5.4 29.16 

10 4.7 22.09 3.0 9.00 
1.1 4.0 16.00 4.9 24.01 
12 1.6 2.56 3.4 11.56 
13 2.4 5.76 .,. .., ....... .._ 10.24 
14 5.1 26.01 5.0 25 .•00 
15 3.2 10.24 6.5 42.25 
16 3.3 10.89 5.3 28.09 
17 3.8 14.44 3.4 11.56 
18 5.8 ::>3. 64 .., .,. .._ . ._, 5.29 
19 3.8 14.44 5.1 26.01 
20 4.6 21.16 4.0 16.00 
2.1 2.1 4.41 4.7 22.09 
22 3.4 11.56 2.6 6.76 
23 7.1 50.41 6.0 36.00 
24 3.5 12.25 3.4 11.56 
25 2.2 4.84 4.2 17.64 
26 2.6 6.76 6.9 47.61 
27 2.8 7.84 4.8 23.04 
28 8.7 75.69 4.6 21.16 
29 2.4 5.76 7.0 49.00 
30 2.2 4.84 2.7 7.29 
31 .., .., ....... 4.84 4.4 .19.36 
32 6.0 36.00 4.4 19.36 
33 5.9 34.81 2.8 7.84 
34 2.8 7.84 4.2 17.64 
35 4.3 18.49 1.0 1.00 
36 3.4 11.56 3.9 15.21 
37 5.6 31.36 8.3 68.89 
38 3.4 11.56 2.5 6.25 
39 • 8.8 77.44 4.1 .16.81 

---------------------·------------------------------
TOTAL 166.5 848.05 174.9 882.27 
---------------------------------------------------

n 

Mean 
SD 

39 

: 4.269230 
: 1.900298 

39 

4.484615 
1.605178 

====================~=========~==~============;==== 



Test of Hypothesis : 

I 0 Ho : rnA= mC , there is no significant difference between l:,'l'Oup A and group C 0 

Hn: rnA# mC, there is significant difTerence between group A and group C 0 

2 0 t-tcst, where dko = nA + nC- 2 = 76 
t ( 0 05/2 ) = 2000 

3 0 Calculation for !-observation ( to ) : 

A : C\Cl~S IIA 
=== 

{ >: 
= 4.269230 

n 

I 

' 
I n{>:"" - ({>:)"' 

s = v -------------- = 1.900298 
n (n-1) 

c : class rrc 
---

{ >: 
>: = ------·--- = 4.484615 

n 

I 
I n{>:"" - ({x)"" 

s = v -------------- = 1.605178 
n (n-1) 

>:A - >:C 

n = 39 

n = 39 

to= ---------------------------------------- = -0.541 

I 
I (nA-1)s 2 A + (nc-l)s""C 1 1 

I ------------------------( ---- + 
V nA + nC - 2 nA nC 

L/. CONCLUSION 

Because It observation I -= 00540730 < t ( 005 I 2 ) so Ho is accepted 0 
Hence , we can conclude that there is no significant difference between group A 
and group C 0 • 



Calculation For Two Means Test 

---------------------------------------------------
NO. >:C 

---------------------------------------------------

TOTAL. 

n 

Mean 
so 

1 
2 
3 
4 
5 
6 
7 
8 
9 

l.O 
1.t 
12 
13 
14 
15 
16 
17 
18 
19 
20 
21 
22 
23 
24 
25 
26 
27 
28 
29 
30 
31 
32 
33 
34 
35 
36 
37 
38 
39 

2.7 
..,. c 
._\ • ._I 

..., .,. 
""" . ._\ 

5.5 
4.4 
5.1 
6.3 
3.1 
4.4 
6.4 
..., .,. 
4 • ._, 

4.1 
7.0 
4.5 
3.7 
5.2 
4.0 
1.6 
5.8 
8.6 
5.5 
2.9 
2.8 
5.2 
2.0 
7.3 
6.9 
2.8 
6 . .1 
5.3 
5.9 
3.5 
3 . .1 
2.8 
5.7 
7.3 
4. •l 
2.0 
4.4 

176.4 

39 

: 4.523076 
: 1.739852 

7.29 
12.25 

5.29 
30.25 
19.36 
26.01 
39.69 
9.61 

19.36 
40.96 

5.29 
16.81 
49.00 
20.25 
13.69 
27.04 
16.(H) 
2.56 

33.64 
73.96 
30.25 
8.41 
7.84 

27.04 
4.00 

53.29 
47.61 
7.84 

37.21 
28.09 
:54. 81 
12.25 

9.61 
7.84 

32.49 
53.29 
19.36 
4.00 

19.36 

912.90 

' ' 
' ' 

2.6 
3.4 
5.0 
4.8 
6.3 
6.7 
7.7 
4.4 
5.4 
3.0 
4.9 
3.4 
3.2 
5.0 
6.5 
5.3 
3.4 
..., .,. 
4 • ._, 

5.1 
4.0 
4.7 
2.6 
6.0 
3.4 
4.2 
6.9 
4.8 
4.6 
7.0 
2.7 
4.4 
4.4 
2.8 
4.2 
1.0 
3.9 
8.3 
2.5 
4.1 

174.9 

39 

4.484615 
1.605178 

6.76 
11.56 
25.00 
23.04 
39.69 
44.89 
59.29 
19.36 
29.16 
9.(10 

24.01 
11.56 
.10.24 
25.00 
42.25 
28.09 
11.56 
5.29 

26.01 
16.00 
22.09 
6.76 

36.00 
11.56 
17.64 
47.61 
23.04 
21.16 
49.00 
7.29 

.19.36 
19.36 

7.84 
17.64 

1.00 
15.21 
68.89 
6.25 

16.81 

882.27 

================================~==========:======~ 



Test of Hypothesis : 

I . Ho: mB = mC, there is no significant difference between group Band brroup C. 
Ha : mB # mC , there is signiticant difference between group B and group C . 

2. t-tcst, where dk. = nB + nC- 2 = 76 
t ( . 05/2 ) = 2000 

3 . Calculation fort-observation ( to ) : 

0 : ck1ss IIB 

{ , . .. 
>: = = 4.523076 

n 

/ 
/ n{>:"'- ({>:)"" 

s = v -------------- = 1.739852 
n (n-1) 

C: ClG15S IIC 
=== 

{ >: 

>: = = 4.484615 
n 

I 
/ n{>:"" - ( {>: )"" 

s = v -------------- = 1.605178 
n (n-1) 

n = 

n "' 

39 

39 

to= ---------------------------------------- = 0.101 

/ 
/ (nD-1)s~~ + {nC-1)s2~ 1 1 

I ------------------------( + ----
V ne • nC - 2 nb nC 

Lj, CONCLUSION 

Because It observation I = 0.101466 < t ( .05 I 2 ) so Ho is accepted . 
Hence, we can conclude that there is no significant dill'ercnce between group & 
and group C. 



1ht, ""C~- ou-t !4-svlt> 

--------~-----------------------------------------------------------------~~1~~~--~-~~ 
S~BJECi : ITEM 
NUffSER : -----------------------------------------------------------------------------------

' ,. 

9 

10 
1! 
12 
13 
14 

1~ 

17 

24 
25 ,. 
.~ 

27 
25 
29 
30 
31 
32 
n 
34 
35 
36 
37 
38 ' 

2 • 3 5 b 7 S 9 10 II 12 13 14 15 16 

I 
0 I 
0 

0 I 
I 0 
0 1 
0 0 

1 
1 1 
0 1 
1 1 
1 1 

0 0 
1 1 
0 1 
I 1 
1 1 

0 
1 0 
0 1 
1 0 
I 

1 
0 

1 I 
I I 
0 0 
0 1 
I I 
1 I 
I 1 
0 I 
0 0 

I 1 
0 0 0 1 
0 0 I 0 0 
0 1 0 
1 1 
0 0 0 
0 0 0 I 

1 0 I 0 
0 1 

I I 
1 1 1 1 1 
0 0 1 0 0 

1 1 I 
0 0 0 I 
0 0 0 0 I 
0 0 0 1 
I I 1 I 
0 0 I 0 I 
I 0 0 I 0 
I I 1 I 
0 0 0 0 0 
1 I 0 I 
0 I 0 0 
0 0 1 0 0 
0 0 1 0 
I 1 I I 
0 0 I 1 I 

I I 1 
1 1 I 1 1 
0 I I 0 1 

1 1 1 1 
1 0 I I 
0 0 0 I 

I 0 1 I 
I I 1 0 1 
I I I J J 
J 0 1 I 0 

0 0 0 

0 
0 0 
0 0 
1 0 
0 0 
0 J 
0 0 
0 
0 0 
I 1 
0 0 
0 1 
J I 
0 0 
0 0 
0 0 
J 0 
0 0 
0 
J I 
0 I 
0 0 
0 •) 
0 0 
0 0 

1 
1 J 
I 0 
0 0 
I 
0 0 
0 
J 0 
I 0 
1 I 
I I 
J I 
0 0 

1 1 
0 0 

I 1 
I 0 
J 
0 0 

I 
0 
I 1 
0 0 

1 
0 
1 I 
1 0 
J J 
J I 
I I 

J 

0 0 
0 
0 0 

I 
I I 
I I 
J 1 
0 1 
I 
1 J 
1 0 
0 J 
J J 
1 1 
0 I 
0 0 

I 
0 
0 
I 
0 
1 
0 

1 
0 

1 
1 
1 
0 
1 
0 

(l 

1 
0 
1 
J 
I 
0 
I 
1 
1 
I 
0 
1 
1 
I 
0 

0 
1 
I 
0 
1 
0 

0 
1 
I 
I 
J 
0 
I 
I 
I 
I 

I 
0 
I 
0 
0 
I 
J 
I 
0 
0 
I 
I 
I 
I 
0 

0 
I) 0 
(• 0 

1 I 
I I I 
I 1 0 

I 
I 0 

0 I I 
I) 0 

I 1 
0 1 0 

I I 
I 0 
0 I 
1 0 I 
I I I 
0 0 
1 0 
I I I 
1 1 1 
I 0 I 
0 0 0 
I 0 I 
I 0 
I 1 I 
I I I 

0 
1 I 

I I 0 
I 0 I 
0 0 :) 
0 0 
0 I I 
I I J 
I 1 I 
0 0 I 

•) 



----------------------------------------------------------------------: TOTAL ! 
I? IS 19 20 Z1 22 2> 24 25 26 27 28 29 30 : SCORE : 

----------------------------------------------------------------------'---------' 
0 0 

0 0 
t) 0 0 
i) (l 

0 0 0 
I 

I l 
I 1 

(l il 0 

i) 

1 
0 0 

I 0 0 
I 0 0 

t) 0 
1 0 0 
1 0 

I 
0 0 

i) 0 0 
0 I 
I 0 1 
0 (l 0 

I l 
I 1 
0 0 

•) I 
,·, I 

,, 0 0 

t) i) t' 
(o 0 0 
l 0 1 
I l 
0 
0 0 

0 0 
0 I 
0 0 I 
I 
0 0 l 
I 0 I 
l 

(I I) 

0 
1 l 
l I 
l (1 

I 1 1 
0 l l 
0 
0 1 

t) 0 
0 1 0 
1 1 1 

l l 
0 1 l 
0 1 (• 
0 0 
l 1 0 
0 1 
l 1 C· 
1 1 1 
0 (' 
i) 

j 0 
I) 

(1 0 I 
0 l l 
0 0 
1 0 1 
1 1 I 
1 0 1 

0 1 

(o 

0 

l l 
I I 

1 
0 0 
1 1 
(: I 

0 
0 I 

0 
l 

1 0 
I 
1 
I I 
1 1 
I l 
1 0 
I 
0 0 
I 1 
1 I 
0 

t) 

I) 

0 0 
I 
I 

0 I) 

0 l 
1 I 
I 0 
1 1 
0 I 

0 

1 
I 

(! 

0 
l 
0 

I 
I 

I 
0 

l 
l 
0 

l 
l 
1 
I 
0 
0 

0 
1 
l 
1 
l 
1 
0 

l 
1 

1 
0 

l 
0 
0 

I 
1 

l 
0 
1 
0 
1 
1 
0 
I 
0 
I 

(: 

0 
I 
0 
1 
1 
0 
0 

0 
0 

l 
l 

i) l 
1 

I) 

0 1 
1 

0 0 
l 

0 l 
l 1 

0 
I I 
l l 
0 1 
l 
1 
(l 

0 0 
1 l 
0 I 
I 1 
1 0 
0 0 
0 I 
0 0 
I 1 
0 1 
0 0 

0 
I I 
1 1 
1 •) 
I I 

I 
0 
0 
1 
l 
0 
0 
0 
1 
0 
0 
I 
l 
1 
l 
0 
l 
0 
l 
0 
0 
0 

0 
I 

(I 

:) 

I 
0 
1 
0 
1 
0 
0 
0 

0 0 

I : 
l : 
I ~ 

l : 
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0 ' ' 
I : 
I ; 
0 : 
0 : 
I : 
0 : 
l : 
0 : 
0 : 
1 : 
0 : 
1 : 

2~ : 
18 : 
q : 

00 ' ... 
21 : 
20 : 
o- ' 
~·.' I 

11: 
20 : 
24 : 
25 : 
10 : 
28 : 
lq : 
19 : 
20 : 
20 : 
17 : 
20 ! 
29 : 
18 : 
17 : 
a : 

1:3 : 
12 : 
27 : 
25 : 
19 : 
20 : 
16 : 
2e : 
12 : 
13 : 
15 : 
26 : 
28 : 
18 : 
11 : 
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u 
? 
p 

E 
R 

G 
R 

v 

~."\ 
•'· 
'. ... 

II 

7 

16 

CORRECT 
111iSW:R (U) 

L 
0 
~ 

E 
R 

6 
R 
0 
u 
p 

14 
29 
:)7 

1• .• 

2 
24 
21 , 
a 

IS 
30 
34 
33 
~.., ' -·· 25 
s 

38 
12 
3 

CORRECT 
~NSNER IL) 

2 5 b 7 8 9 10 11 12 13 14 15 t6 
-----------------------------------------------------------------------------------

I I 
I 1 

I l 
l 1 
l l 
1 1 

l 
l 1 
0 
1 
0 I 
0 1 
l 0 

1 
0 0 
I 1 

15 17 

l l 
l 0 
0 l 

1 
0 l 
0 1 
I I 
I 0 
I l 
1 1 
1 I 
0 l 
0 0 
1 0 
0 0 
0 0 
0 l 
0 l 
l 0 

10 12 

I 1 
1 1 
1 

1 
1 1 I 

1 0 
1 

0 0 1 
I 
1 1 

0 0 I 0 I 
0 I 1 0 1 
I I 1 1 
1 0 0 1 0 
0 0 0 

1 
I 1 1 1 1 
1 0 I 1 1 
0 0 0 1 

14 14 17 14 15 

c 0 0 
1 l l 1 
I 0 l 0 
0 0 0 0 
0 0 I 0 I 
0 0 l 0 0 
0 0 0 0 0 
l 1 0 1 1 
0 0 1 0 l 
0 l l 0 l 
1 0 
l 0 0 0 I 
1 1 0 1 
0 0 I l 0 
1 1 0 l 0 
l 0 0 l 0 
0 0 0 0 
0 0 l 0 0 
0 I 1 0 0 

1 I 
I I 
0 0 1 

I 
I 
I 
1 
I 

I 1 I 
0 0 I I 

I 
1 
1 
1 
1 
I 
1 
0 
1 
0 

I I 1 
1 I (: 
0 I 
0 0 I 
I 0 I 
0 0 I 
0 1 
0 I I 
0 0 
I 0 I 
0 0 1 
0 0 

9 10 

c 0 
1 0 
1 I 
0 0 
0 0 
0 0 
0 I 
0 0 
0 0 
1 
I 0 
1 0 
0 
0 0 
0 I 
0 0 
0 I 
0 0 
0 0 

IS 

I 
1 

17 

0 I 
0 1 

0 
I I 
I 1 
I l 
0 1 
0 1 

0 
1 I 
0 0 
0 0 
0 0 
0 0 
0 0 
0 0 

s o 12 s 10 5 o a 12 

I 
1 

I 
I 
l 
1 
I 
1 
1 
1 
0 
1 
0 
0 
0 

l 
I 

I 
1 

1 
1 
1 
1 
0 
1 
0 

15 16 

1 I 
l 0 
1 1 
1 l 
1 1 
1 1 
0 1 
1 1 
1 1 
1 1 
0 1 

0 
1 0 
0 0 
0 0 
0 0 
0 0 
0 0 
0 1 

1 
l 

1 

l 
1 

1 0 
1 

I 
1 

0 1 

I 
1 
0 

1 0 
1 
l 

I I 

1 
1 
1 
1 
0 
I 
1 
I 

l 0 
1 

l 1 
1 1 
0 1 

0 

17 15 " .. 

1 
0 
0 
0 

1 
1 
0 

0 
!) 

0 
1 
1 
l 
0 
0 
0 

0 
0 
0 I 
1 1 
0 1 
0 1 
1 I 
0 I 
0 1 
1 0 

1 
1 I) 

0 0 
1 0 
1 0 
1 0 
1 0 
1 0 
0 0 

11 11 q !0 10 

DP = : 0.26 0.26 0.32 0.42 0.26 0.32 0.42 0.21 0.21 0.53 0.26 0.21 0.26 0.4: 0.26 0.37 
( U-Ll /I~ 

: Sat. Sat. Sat. Good Sat. Sat. Good Sat. Sat. Good Sat. S~t. Sat. Gcod Sat. Sat. 

Cc~RfCTL Y(C) 25 29 22 70 29 22 28 14 16 26 29 26 27 2b 25 27 
Di=C/iOfAL : US O.ib 0,578 0.32 0.76 0.57 0.73 0.36 0.42 0.68 O.i6 O.b84: 0.7: 0.68 0.65 0.71 
inl<rp. : Mod. Easy Hod. Mo~. Easy Hod. Easy Hod. Hod. Hod. Easy Hod. Easy Hod. Hod. Easy 
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----------------------------------------------------------------------· TOTAL • . • 
li IS 19 ·zo 21 "' 23 2-1 25 2b 27 28 29 30 . SCORE . .. . ' 

----------------------------------------------------------------------·---------' . . 
1 I I I 0 I 1 I • 29 • . . 
I I I I I I I I I 1 I 0 ' 28 • 

' . 
I I I I I (I I I 1 I 0 1 . 28 . . . 
I I I 0 0 I I 1 I 0 . 27 ' ' ' I 1 0 I I I I 1 • 26 ' . ' I 0 I I 0 I I I I I I I 0 • 26 • . ' I I I 1 1 1 I 1 0 1 I 0 1 • 2; • . 
I 1 I I I il I I I 0 1 1 25 • 

' I I I 0 0 1 0 I I 24 • . 
0 0 I 0 0 0 I I I I 1 23 • . 
I 1 1 1 I I 1 0 I ... • • 
0 0 I 1 I I J 1 0 1 0 1 22 • • 
(\ (\ 0 0 0 I I 1 1 1 0 1 1 1 21 • • 
1 I 0 I I 1 I I 1 0 1 0 1 20 • . • 
1 1 0 1 1 1 1 1 1 1 1 1 • 20 • 

' • 
(\ I 1 0 I 0 I (\ I 0 1 0 0 • 20 • . • 
I 0 (\ 0 I 0 1 I 1 1 I 1 0 1 • 20 • 

' ' (\ 0 0 0 I I 1 I I 1 0 I 0 I • 20 ' ' ' 1 0 0 0 I 1 I 1 I 1 I 0 1 I ' 20 • 
' ' 

--------------------------------------------------------------------------------' ' 14 ,, 14 12 IS 17 16 15 16 17 13 17 11 15 • .. 
' 

--------------------------------------------------------------------------------· ' 
0 (\ (\ 1 I I I 0 I 1 0 ' 19 ' ' ' 0 (\ 0 I 0 0 1 I I 0 0 I I I 19 I 

I ' 
Q I 1 0 I I I I (\ 1 0 0 0 I 18 I 

' ' 
I 0 (\ 0 1 I I 0 I I I 1 I IS ' ' ' 0 (\ 0 1 I I (\ I 1 I I I 1 ' 18 ' • ' 
I 0 I I I 0 I 1 I I I 1 I 0 ' IS ' ' ' 
1 0 v 0 1 1 I (\ I I 1 1 0 1 • 18 ' ' ' 
0 0 0 0 I 0 I I 0 I 0 1 0 1 ' 17 ' ' ' I ) I) 0 1 0 I I I) 0 1 I I 1 ' 17 ' ' ' 
0 I I 0 0 0 0 0 0 0 0 0 • 16 ' • ' 
0 0 0 0 Q 1 0 I I 0 1 0 0 0 ' 1~ . ' ' 
Q 0 0 0 I ! 0 0 I 0 0 1 I ' " ' . ._, 

' 
0 0 0 0 0 1 I 0 0 0 I 0 0 ' !2 ' ' ' 
0 0 0 0 I ! I 0 0 1 0 I ' !~ ' 
I I I 0 I) 0 i) 0 0 I 0 0 0 ' II ' ' ' 
0 0 I I 0 I 0 0 0 I 1 0 1 ' II ' ' ' 
0 I 1 I I 0 0 1 0 0 0 0 0 I ' 10 ' ' ' 
0 0 0 0 (\ I I 0 I I 0 I 0 1 ' 9 ' ' ' 
0 I 0 0 1 0 0 0 0 0 0 0 ' 8 ' ' ' 

----------------------------------------··--------------------~--------·---------' ' ' 
8 5 b II 13 II II 12 9 9 11 II ' ' 

----------~-----------------·-----------··---~-------------------------'--·------' ' ' 
0.~~ 0.3i 0.37 0.32 0.21 0.21 0.26 0.21 Ul o. 42 0.21 0.32 0.11 0.21 ' 

s~t. Sat. Sat. Sat, Sat. Sat. Sat. Sat. S;;t. Good Sat. Sat. Sat. Sat. ' 
----------------------------------------------------------------------:---------· 

~·"' '1 71 18 2b 30 27 20 28 2b " 28 18 'lb ' ~. 
,, .. 

1}, ~~7 o. 44 0,~1~1 lj,47 i) .bS 0. 78 0.71 0.68 0.73 0.68 0.57 0.73 0.47 0.68 ' 
M.:d. Ho~. Hod. Hod. ~c'd, Easy Easy Hod. Easy Mod. Moe, Easy Hod. Hod. ' ' 
---------------------------------------------------------------------------------



Criteria~ of Discrieation Power 

0.00 - 0.20 : Poor 
0.20 - 0.40 : Satisfactory 
0.40 - 0.70 : Good 
0.70 - 1.00 : Excelent 

Criterion of Difficulty Index 

0.00- 0.~0 : Difficult 
0,30 - 0.70 : Moderate 
0.70- J.OO : Easy 



CALCULATION FOR RELIABILITY KR-21 

--------------------------------------------
NO. ' X X' ' NO. ' xz ' ' ' ' ' 
--------------------------------------------

23 m ' 31 ' 26 m ' 
" ' IS 324 ., 

' 12 144 ' L ' ·'• 
• ' 9 81 ' 

., 
' 13 169 ' ·' .h.' ' 

"" 494 34 ' 15 225 LL 

s 21 •i41 "' 
,. 676 ' .. ~~· .o 

6 ' 20 400 ' 36 ' 2S 794 ' ' ,. =·29 ~7 ' !B m ... 
' s ' 11 121 38 ' 11 121 ' q ' 20 400 

10 ' 24 m ' ---------------------' ' ' Il ' 25 625 :TOTAL: m 15044 
12 10 100 ' n 38 ' 
13 ' 28 i84 :HEAN :19.10 
14 ' 19 ~61 :vAR. :3o.ss 
15 1S 324 ' ----------------------
16 ' 20 tOO 
17 ' 2V 400 ' ' ' 
IS ' 17 iS9 ' ' ' 19 ' 20 4)0 

' 
20 ' 29 841 ' 
"' .. 18 324 
'" 17 m ' LL ,. 
4J 8 64 
2~ 1S m 
25 12 144 ' 
0' ' 17 719 41> ' , 

' 25 m LO ' 
28 ' 19 3<)1 

' 19 ' 20 4(·0 
' 

30 ' 16 256 ' 
----------------------



{ X 

M = = 19.10526 

v: = 30.99365 
n 

rR-21 FORMULA :1.1 

K M ( E - M I 
r = ------ ( 1 - ------------ I = 0.802079 

Where: 

1:-1 KV 

r = Reliabillity 
n = NuBber of subjects 
M = Ke; n 
I' = Variance 
K = Nutber of ite•s 

r table = 0.320 

Because r greater than r table, so the test i~ 

reliable. 

• 



C~LCULATIONS OF EMPIRICAL VALIDITY, r PRODUCT MOMENT*! 

.1 

4 
~:: , __ I 

lf::l 
.1.~} 

:20 
2.1 

23 

,.., c:: 
.:.:.c 

·;o···;o-

·-"·.·· 

TI]T!-~.L 

f'• ::::. ~5H 

TRY OUT 
>: 

18 
9 

21 
20 

.tl 
20 

.tO 
.2B 
19 
1.8 
20 
20 
.17 
20 
29 
18 
.17 

EJ 
Hl 
12 
27 

1'2 
I "" ... ·-· 
15 
26 

SUM 
y 

..., .., 

..:_ .. J 

3.5 
:? . 3 
5.5 

::_; .. .1_ 

:':. 1 
Jl .. 4 
6 .. :} 

•Ll 
/ .. 0 
4.5 

L'J. 0 
1.6 
5.8 
8.6 
" c ....... ~' 

2 .. 9 
2.8 

6.9 
:2 .. 8 
l:.~. l 
r:. - .... 
~-· .. '•·. 

. ~ ... ~:_) 

'.. J 
2.8 

-.· "·':' 
I • '••' 

4.4 
·~~ .. () 

L "7'"·' , ..... 

\ - SCORE OF TRY OUT 
SIJi·lAT I I,'E TEST 

529 
324 
81 

484 
441 
•100 
~:,29 

121 
400 
c: -r L 
,_I·' •.) 

62~1 

.100 
78A~ 

361 
~524 

400 
400 
289 
400 
841 
32.t.l 
289 

64-
::..~24 

1.44 
729 
f:.,25 
361 
400 
..,~. 

.<(~ ._1f.J 

6~'6 

t 4 r, 
J t .. 9 
225 
676 
784 
:~24 

121 

't':.! XY 

7 29 t ,., 
)..::. . .t 

12. 2~5 6.3.0 
5. '29 20. 7 

.30 • .... ,r=: .. .-.., (l .::...) J. ...:: .... . 
19 3h o··, 

I ..: .. 4 
..., ' 
,.::.,'";). •) .l 10~2 .0 
39 . h9 1 4.:1 9 

'-7 . 6.1 :s4 1 . ~ 
19 . -~·(:) 8f-) . 0 
40. 9!.~ l ~5·:: 6 

:~ . 2q ~::, ~l c -· 
16.8J. 41 . 0 
L19 . 00 196 . 0 
20. 25 85 5 
13 . 6Ll h6 . b 
.-,"'";" .04 104 .0 ~' 

16. 00 8U. (I 
2 .. 5h 27 . 2 

-:---:-- b4 11.S. 0 __ ... _ ... 
73.96 249 .4 
30. 25 99. 0 

f3 •l.i 49 ..,. . . __ .. 
-, 84 ....... "\ 4 ·' ...:. .. .:.:.. 

27 . {)l~ 9"'' ··4' .6 
4 (II) 2.,1 (l 

s:::: 29 197 1 
47 . ill 172. 5 

7 .B4 53 ,, 
•-" 

~i 21 122 . (I ·-·'' . 
·.::o. nc; nr, .8 
34 . B.t .\ ~).::;.. 4 
t ~' :.:~5 42. (l 
9. 6.t •10. ~' 
7.:34 4 ,~, 

~. 0 _,.., 
49 1.48. 2 .:,. .. ~ . 

53. 29 204 .4 
19 36 79. .., . ~ 

4 . ~)0 ~~:;-:~. 0 



-:: >: • { y 

./ 

~. 5% s~gnificance level, n a 38, r·· tablE! 

. ·• CONr.LUS I ON : 
Sirrce /r calculation /= 0.730266 > r table, then there 
is significant correlation between X an~ Y. 
So, lest is valid. 
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I~A KRITIS DAIU r PIOXJCT tO<mn' 

Interval Interval Interval 
H ~roa.ya.nn H ~roayaan N lepercayulll\ 

5% 1X 5% 1X 5X 1X 

3 0.997 0.009 26 0.388 0.400 5.5 0.266 0.345 
4 0.950 0.000 Z7 0.381 0.4.87 60 0.254 0.330 
5 0.878 0.959 28 0.374 0.478 . 65 0.244 0.317 

29 0.387 0.470 
6 0.811 0.917 30 0.361 0.463 70 0.235 0.306 
7 0.754 0.074 . 75 0.7.Z7 0.200 
6 0.707 0.074 31 0.355 0.456 00 0.220 0.200 
g 0.666 0.700 32 0.340 0.440 65 0.213 O.Z16 

10 0.632 0.765 33 0.3« 0.442 00 0.2ffi o.zro 
34 0.339 0.436 

11 0.602 0.735 3.') 0.334 0.430 05 0.202 0.263 
12 0.578 0.700 100 0.195 0.256 . 
13 0.553 0.684 36 0.329 0.'424 125 0.176 0.23) 
14 0.532 0.681 37 0.325 0.418 150 0.159 0.210 
15 0.514 0.641 36 0.320 0.413 175 0.146 0.194 

39 0.316 0.400 
16 0.497 0.623 -so 0.321 0.403 200 0.1313 0.101 
17 0.462 O.&X3 X() 0.113 0 .l.4U. 
1ll 0.488 o.soo 41 0.300 0.300 400 0.000 0.128 
10 0.456 0.575 42 0.304 0.393 500 0.000 0.11.5 
20 t) .444 0.561 43 0.301 0.389 600 0.000 0.105 

44 0.297 0.406 
21 0.433 0.549 45 0.294 0.300 700 0.074 0.097 
22 0.423 0.537 000 0.070 0.091 
23 0.413 0.526 48 0.291 0.376 {OJ 0.065 0.006 
24 0.404 0.515 47 0.200 0.372 
25 0.396 0.~ 40 0.264 0.368 HXX> 0.062 0.001 

49 0.201 0.364 
50 0.279 0.361 

N = j~.ml.oh pnsnngnn ysng digunoknn w1tuk IICI"tghiturut r. 

1'nbel ini di&JBtm olch L.O. P..chlison do.ri r = 
N - 2 ~ t'" 

\lcrt: dkk., p. 42<1 



CALCULATION FOR TWO MEANS TEST 

---------------------------------------------------
NO. >:f.' >:"'A :-:c >:"'C 

---------------------------------------------------
t 28 78•l ~..,-, 

""-' 729 ..., 
28 784 16 256 ·'-

:-~\ 29 841 28 784 
4 24 576 20 400 
5 19 361 26 676 
6 28 784 25 625 
' 24 576 24 576 .• 

8 27 729 ..,.,. .::_._, 529 
9 ..,. .._a 676 ..,.,. 

.4....:• 529 
1.0 24 576 25 62~· 
1l 24 576 25 625 
12 26 b7b 25 625 
1 -~ ·-· 25 625 18 324 
1.4 27 729 24 576 
l5 27 729 26 676 
16 26 ,l:.,76 21 441 
17 2b f-_,76 21 •l41 
18 ...,.,. 

""-~' :•29 22 484 
19 25 625 25 625 
20 ..,. 

..<.0 676 22 484 
21 26 676 21 441 
"').., 
.1.- .L. 26 676 23 !:·29 
23 26 676 21 441 
24 24 576 26 676 
25 23 529 27 729 
26 25 625 28 784 
27 29 841 24 576 
28 26 676 23 529 
29 26 676 22 484 
30 26 676 21 441 
31 23 529 25 625 .,. .... 
~'.L. 24 576 23 529 
"':""":'" ._ .... _, 25 625 30 900 
34 ..,.,. 

L~' 529 25 625 
35 24 576 25 625 
36 16 256 27 729 
..... -, 
~'' 26 676 25 625 
38 29 841 24 576 
39 ...,.,. 

.L.~' 529 .17 289 
---------------------------------------------------
TOTm. 982 24968 923 2218:::. 
-----------------------------------------------------

n 

1'1Ef-\N 
SD 

39 

25.2 
: 2.522235 

39 

23.7 
2 .98~·344 



TESTS OF HYPOTHESES 

1. Ho mA = mC, there is no difference between 
grollps. 

the mean 

Ha mA > m,c., m•?an score of A grOLIP is 
C- group. 

gr·ea ter than 

?. t-test, where df. - nA + nC - 2 = 76 
t(0.05) - 1.671 

-·· C~dculation ftH" t observation (to) 

A : EXPERIMENT/'.L 

2!::0 .17948 
n 

/ 
/ n{>:2 _ ( {>: )2 

s = v -------------- - 2.522235 
n (n--.t I 

C. : CONTROL 

{ >: 
)! = = 

n 

/ 
/ n{>:2 _ ({>t)2 

s = v -------------- - 2.985344 
n (n-1) 

n ::.:; 39 

n = 39 

to -· -------------··----·---------------···------------·- = 2. 417 

I 
I (nA-1)s2 A + (n"C-1)s 2 C 1 1 

I ------------------------( + 
v nA ~- nc: - 2 nA nC 

3. CONCLUSION 
8ec.:1use t. c•bservation = 2.417374 > t(0.05) 
so Ho is rej~cted. 
H1;onc:e we cone lllde that thf? di fftrence between groLIPS 
is significant, and that the A group is greater. 
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